a) 20 x 25 x 24—room roofing

	4 quintal metal rods (0.3imnch thick)
	= 1800 x 4
	= 7200

	4 pillars-metal rod 112 kg – (0.4 inch thick)
	= 112 x 20 
	= 2240

	40 kg metal rod (0.2 in)
	= 40 x 27.5
	= 1100

	125 kg metal rod (.1 in)
	= 125 x 18
	= 1120

	50 kg metal rod for beam (0.2)
	= 50 x 22
	= 1100

	70 kg metal for beam (0.5)
	= 70 x 16
	= 1120

	300 feet concrete
	= 300 x 35
	= 10500

	300 feet sand 
	= 300 x 14
	= 4200

	Cement 70 bags 
	= 70 x 150
	= 10500

	Labour Cost
	
	= 13000

	Total
	
	= 53210

	
	
	


b) Tin shed 40 x 13 = 520 feet

	10,000 Brick
	= 10 x 1300
	= 13000

	Cement 30 bags
	= 30 x 150
	= 4500

	17 tin sheet
	= 17 x 400
	= 6800

	2 window with 2 doors each
	= 4 x 1500
	= 6000

	Labour
	
	= 4000

	Total
	
	= 34300


c) Bathroom and laterine

	4000 bricks
	= 5 x 1300
	= 6500

	26 bags cement
	= 25 x 1500
	= 3750

	Toilet seat 3 
	
	= 1000

	Labour
	
	= 3750

	Total
	
	= 15000


d) Play Equipment – slides, see saw

	1 slide
	= 1x 2000
	= 2000

	1 seesaw
	= 1 x 2000
	= 2000

	2 horses
	= 2 x 1500  
	= 3000

	miscellaneous
	
	= 5000

	Total
	
	= 12000


Grand Total-  Rs. 1,14,510

                             - US $ 2386.00 (@ 1US $= Rs 48.00)

